A candy manufacturer has 130 pounds of chocolate-covered cherries and 170 pounds of
chocolate-covered mints in stock. He decides to sell them in the form of two different
mixtures. One mixture will contain half cherries and half mints by weight and will sell for
$2.00 per pound. The other mixture will contain one-third cherries and two-thirds mints by
weight and will sell for $1.25 per pound. How many pounds of each mixture should the
candy manufacturer prepare in order to maximize his sales revenue?

The Osgood County refuse department runs two recycling centers. Center 1 costs $40 to run
for an eight hour day. In a typical day 140 pounds of glass and 60 pounds of aluminum are
deposited at Center 1. Center 2 costs $50 for an eight-hour day, with 100 pounds of glass and
180 pounds of aluminum deposited per day. The county has a commitment to deliver at least
1540 pounds of glass and 1440 pounds of aluminum per week to encourage a recycler to open
up a plant in town. How many days per week should the county open each center to minimize
its cost and still meet the recycler’s needs?



